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Verbal Reasoning Question &
Answer Set for VIC PSO and Police
Exam

This publication is copyright. No part may be reproduced by any process except in
accordance with the provisions of the Copyright Act 1968.

Disclaimer: This publication may be of assistance to you but Exam Success Pty Ltd and its
employees do not guarantee that the publication is without flaw of any kind or is wholly
appropriate for your particular purposes and therefore disclaims all liability for any error,
loss or other consequence which may arise from you relying on any information in this
publication.

Answer Sheet

Shade in the option corresponding to the question.

1 A| B| C| D E 18 | A B|]cCc]|D E
2 A B C D E 19 A B C D E
3 Al B | c | D E 20 | A B|] Cc]| D E
1 Al Bl cl oD E 21 A | B|] cCc| D E
5 A B ¢ D E 2 | A B|] c]| D E
5 A T B ¢ D E 23 | A B|] cCc]| D E

24 | A B|] cCc ]| D E
r |A |/ B | C | D E 25 | A | B | C | D | E
8 | A | B | C D] E 6 | A | B | C | D | E
9 A | B| C | D]|E 27 | Al B|] c| D ]| E
10 A B C D E 28 A B Cc D E
11 A| B|] cCc | D E 29 | A B|] cCc]| D E
12 | Al B|]C]| D E 30 | A| B|] C ]| D E
13 A B Cc D E 31 A B C D E
14 | A B|Cc|D]J|E 2 | A | B | C|D]|E
51 A B Cc | D E 33 | Al B|] C ]| D E
5 A l8 ¢l D E 34 | A B|] cCc]| D E
17 | A | B | Cc | D E
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5) Birds with valuable feathers are all hunted close to extinction

A:1&4 B:1&3 C:1&5 D:2&5 E:1&5

8 Assume that is all jacks are lacks, but not all lacks are sacks, but some yacks
are jacks.

A: Some yacks are lacks
B: All sacks are yacks
C: No yacks are sacks
D: All yaks are lacks

E: None of the above

9 Six cats have entered a beauty contest. Cat C came before Cat E, who was last.
Cat A beat Cat C but came after Cat F, Cat B and Cat D.

If Cat D was first, which two cats were equal second?

A:CatA & CatB
B: CatF & CatB
C:CatD &CatF
D: CatF & Cat A
E:CatA&CatE

10 TIRED is to FEELING as THINKING is to:

A: ability B: brilliant C: work D: ingenious E: smart

11 Which of the following is most similar in meaning to boffin:

A: bully B: bird C: experiment D: scientist E: fight

12 Which of the following is most similar in meaning to adept:

A: clever B: proficient C: understanding D: change E: all-rounder

13 Which of the following is most similar in meaning to dear:
A: good B: expensive C: fawn D: family E: money
14 GOLD is to SHINY as CAR is to:

A: drive B: fast C: road D: transport E: engine
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can be drenched, drowned, inundated or to which things are
immersed. While water can make these things happen the words
in the box themselves relate to the action not the object. Therefore,
‘water’ couldn’t go in the box.

31 A

Hospitality means to welcome guests or strangers with generosity
of spirit. Therefore the following are incorrect as:

Restaurant may provide hospitality but is not the word itself.
Obligingness relates to someone who doesn’t want to be generous
but feels like they have to

Charity is donating to those less fortunate which may be strangers
but not necessarily hospitality.

Kindness can be shown in hospitality but is not the same thing.

Neighbourliness is the most similar in match as being neighbourly
means to be welcoming to someone.

32 B

The words in the box mean that something is costly or priced at a
high price. Therefore the word economical which means “cost
effective” or “cheap” is the only word that could not go in the box.

33 B

All the other words relate to a minor perforation that can be made
with a needle or small instrument. A fracture implies a large broken
area and is usually made with a large impact on bone as opposed
to a skin surface with a needle.

34 C

Animated is the opposite of lethargic and therefore, we need to find
the opposite of Aloof. Aloof means standoffish and the word
‘friendly’ is the opposite of this. Therefore, friendly is the answer.

© Exam Success Pty Ltd 2014 www.examsuccess.com.au

END OF PRACTICE EXAM ANSWERS

12




